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T.B.C. : B-PFCA-O-PEW Test Booklet Series
Serial No.
J12617, ~ TEST BOOKLET
MATHEMATICS
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
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INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN GR
MISSING PAGES OR ITEMS, ETC. IF S0, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll
Number and Test Booklet Series A, B, C or D carefully and without any omission or
discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/
discrepancy will render the Answer Sheet liable for rejection.

. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

- You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Bookiet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

. After you have completed filling in all your regsponses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Ansiver
Sheet. You are permitted to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end,

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

() There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third of the marks
assigned to that question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question,

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLILTO DO SO
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1. Let X be the set of all persons living
in a city. Persons x, y in X are said
to be related as x < yif yis at least
5 years older than x. Which one of
the following is correct?

fa) The relation is an equivalence
relation on X

{b} The relation is transitive but
neither reflexive nor symmetric

{c) The relation is reflexive but
neither transitive nor
symmetric

{d) The relation is symmetric but
neither transitive nor reflexive

2., Which one of the following matrices
is an elementary matrix?

10
0
0

o}

(a)

<

Q
—

(b)

o

l=

fcg |1

(d) |0

p—

0
0
1

— O
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3. Consider the following statements in
respect of the given equation :

(x2 +2)% +8x? =6x(x? +2)

1. All the roots of the equation are
complex.

2. The sum of all the roots of the
equation is 6,

Which of the above statements
is/are correct?

{a) 1 only
(b} 2 only
fc) Both 1 and 2

fd} MNeither 1 nor 2

4, In solving a problem that reduces to
a quadratic equation, one student
makes a mistake in the constant
term and obtains 8 and 2 for roots.
Another student makes a mistake
only in the coefficient of first-degree
termn and finds -9 and -1 for roots.
The correct equation is

(@ x°-10x+9=0

(b) x2+10x+9=0

e x%-10x+16=0

(d) x*-8x-9=0
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1. 7 difoe % & v A @ 9 of

wﬁmﬁmuﬂaax%tx%w%x,y
WY x <y TN TEfg e 9N g,
ARy, x A FH-V-FW 5 T TG Y
fafofiad & @ FWH-61 U e 87

(a) T WEY X T TFH o @Y 2

(b) T WY WHEEEH § g T @
wgew & ot 7 @ woftm }

) TR Y Wy t g 9 @
e & iR A € Al B

(@) T& wEy whhw ¥ feg T @
e % o 7 € Eges }

2. Tr=fiia seggt § @ BR-w s e

e 7

1 00
{ag |0 0
0 1

o o

{cc |1 0O

fdj |0

—
o]
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3. gdEm  (x? +2)% +8x?% = 6x{(x? +2)
F w=d § fmfafes wanl m AR
i

1. 38 gfidw & wft oo afe &)
2. 39 g & wft gEt F14m 6 2

I FAA H B FA-A1/W T R/ET
@) FaA 1

(b) A2

fc) 1 3R 2eF

fd) Fd13MIA2

4, @ v ®, N F @ Guw gdiww d
| @ ¥, T F ge w feremeff
AT U8 AN Al ¢ SR A 8 T 2
T A 71 gwu el e gum-am
w ¥ s d TR w2 e e
~Q TYT -1 T a1 3| A FHIHT F
87

fa) x2-10x+9=0
) x%+10x+9=0
fc) x%>-10x+16=0

(d) x?>-8x-9=0
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5. If 8. The matrix

av 27 )
= s [O -4+1]
4+ 0

then what is A + 3471 equal to?

(@ 3I '
(b} 5I {a} symmetric
fej I
{d} None of the above (b) skew-symmetric
A
where [ is the identity matrix of fc) Hermitian
order 2.

{d} skew-Hermitian
6. In a class of 60 students, 45

students like music, 50 students
like dancing, 5 students like

neither., Then the number of 9. Let Z be the set of integers and
students in the class who like both aRb, where a, be Z if and only if
music and dancing is (a - b) is divisible by 5.
{faj 35 Consider the following statements :
(b) 40 1. The relation R partitions Z into
five equivalent classes.
fc} S50
2.  Any two equivalent classes are
fd) S5 . L
either equal or disjoint. .
7. 1f Which of the above statements

i a
10810 2, l0g10(2%~ 1) and log,o(2* + 3) Is/are correct:

are three consecutive terms of an

) fa) 1 only

AP, then the value of x is

faj 1 (6} 2 only

(b) logs2

fc) Both 1 and 2
fc) log, 5
(d) logip S {d) Neither 1 nor 2
____7\ 17
’ \ / YA
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5. AR A=[21 ;] 3 o A+3a7! Feuk
TR 7
fa) 31
() 5I
fe) TI
(d) 394% T A S 7
STEl 1, Wi 2 W TETE AR B

6. 60 faflt & @ % § 45 faenefi
¥fid o= w8, 50 foensff 390 wo=
¢ AR 5 foemff 391 & @ 3o off
T8 ¢ W 2| T 37 i ),
w87

(a) 35
(b) 40
c 50

{d) 55

7. M logp2,  logp(2*-1) ¥R
logyo(2%+ 3) T THIRR Aol (AP) %
A T 9T 2, T x T HH BT

faj 1
(b) logs2
fc} log, 5

{d} login 5
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w27

8. e [42;' _40”}
(a) Wufta
(b) for i
(c) TS
(@) fom-gRiA
9. " i f& qufet = ¥q=w Z ¥ &)

arb, & a, be Z, A IR Faa Al
(a-b), 59 faweg &)

frafefaa st w fan $ifm

1. W=y R, Z H W g9 F R
oo e &

2. ®R A gHE T WA s §om
3T £

ITYT FuAl B A B/ wE R/
fa) a4 1

(b) FaT 2

f¢) 132t

[d) 3ar1 af'r{q'a"fz
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10, If
-2 ;
z= (1+2i)
3+
where i= /-1, then the
argument 8{-n<8<n)of z is

3n

fa} 4

{b)

(c)

olg +in

(@ -3¢

11. If m and n are the roots of the
equation {(x + p)(x+q) -k =0, then
the roots of the equation

(x~-m){x-n)+k=0
are
fa) pand g
(b} 1/pandl/g
fc) -pand -q
(d) ptqgand p-g

12. What is the sum of the series
0-5+0-55+0-555+-.- to nterms?

@ 3-3-5)
o 3[s-3(-50)
o o3 w),
@ 3317

B-PFCA-O-PEW/53A

TT——

13. If I, o, ®? are the cube roots of unity,
then the value of

(1+@)(1+ o) (1+0*)(1+ o)
is
fa} -1
b} 0
fc) 1
(d}y 2
14. letA={1,2,3,4,5,6,7,8,9, 10).
Then the number of subsets of A
containing exactly two elements is
{a) 20
fb) 40
{c} 45
{d) 90
15. What is the square root of i, where
i=4~17
@ 1

1-1
w5

1+i
“ &7

{d}) None of the above

B
_
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10, _qﬁ 7= —2(1+21), E‘ET 1=\/—_1 %’

3+1
& z 1 HIH (-~ 1 < § < 7) 1 7

3n

fa) -,

(b)

=

) -

@ -

11, 7% m 3R n LG T |
(x+p)x+q)-k=0 F el %, G
TR (x-m)(x-n)+k=0 % Td
w1 g7

(a) p¥M g

(b} 1/p3M1/q
(c) -pdAT g

(d) p+q3M p-gq

12. 39 0-5+0-55+0-555+ --- & n 9@

T A = R

@ 5108,
o ol 5( )
o )
@ 350507
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13. IR 1, 0, 0? TH S T &, 9
(1+ w)(1+ 02} (1 +0*)(1+0f)

F AE 7 }?
(@) -1
(b) ©
¢} 1

(dj 2

14. TR e A={1, 2, 3, 4, 5, 6, 7, 8,
9, 10} B1 @ A % &% A oy W@
el ITag=Al I wEw =1 BY
{a) 20

fb) 40
{c) 45

(d) 90

15. i, &l i = =1, % I 1 7

1+i
@ =
1-i

® =
(c)

Lid
V2

(d) 39 4 A wE T

o \\/\1’5. T. 0.
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16. The decimal number (127-25),,,
when converted to binary number,
takes the form

faj (1111111-11),
(bj (1111110-01),

() (1110111-11),

(d) (1111111.01),

17. Consider the following in respect of
two non-singular matrices A and B
of same order ;

1. det(A+ B)=detA+detB

2. (A+Byl=a14p"1

Which of the above is/are correct?
fa) 1 only

(b) 2 only

{c/ Both 1 and 2

(d} Neither 1 nor 2

18, If

3 -4 5 2 P q

X{l —1} B'[—z 1} and A“[r s}
satisfy the equation AX = B, then
the matrix A is equal to

-7 26] 7 26
(a) 1 -5] ) 4 17}

7 -4] o [-7 26
@ 126 13] @ |6 23}

B-PFCA-O-PEW /53A
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19. What is ¥ "*"C, equal to?
r=0

(a) P1+2C1

ﬂ+2c
n

{b)

n+3c
n

c)

n+2
Cput .

(d}

20. How many words can be formed
using all the letters of the word
‘NATION’ so that all the three
vowels should never come together?

faj 354
(b) 348
(c) 288

{d) None of the above

21. (x3 - 1) can be factorised as

(@ (x-1)(x-w)(x+w?)
b) (x-1)(x-a)(x-o?)
fc) (x-1)(x+)(x+e?)

d) (x-1){x+©)(x-o’)

where o is one of the cube roots of
unity.

7\ 1
i

8 N

N

= . -
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16. T HEAT (127.25)), & Tganumd
@ A iafda ) ol &, 9 SH-a §9
ot /7

(@) (1111111.11),
(b) (1111110-01),
(¢) (1110111-11),

(@) (1111111-01),

17, GAW Fii2 % B Feaig et A it B
% fore Fosfafan = foem Hifd

1, det(A+B)=detA+detB
2. (A+Byl=At+Rg!

I | & PH-a /A wd A/
fa) Fad 1

(bj FEH 2

fc) 1 3R 2 <M

@) A 1MAE2

18. 4fe
~ 3 -4 _ 5 2 P 4q
ST L2 P LS [

i AX =B % gg8 &= &, @

AR A s ate 37
-7 26 (7 26
fa) {1 —5} B 14 17]
7 -4 o [ 26
€ las 13] @ |- 23]
B-PFCA-O-PEW/S53A o

1
19. ¥ 1, foge soe 37
r=0

(a) n+2cl
{b} !l‘t-ch
(C) n+3cn

-2
(d) n Cn+1

20. & NATION’ & @t &} =1 y9m 3=
Tpae T8 W= T W1 ged § 5 3
afi 9 R Ty i o T8 amde

(@) 354
(b) 348
c) 288

(d) 3 F § FE @

21. (x° - 1) ¥ fo@ ®v & EEeE B W
a1 87

(@ (x-1){x-o)(x+o?)
(b) (x-1)(x-w)(x-w?)

¢} (x-1)(x+w)(x+w?)

(d) (x-1)(x+w0){x-wn)

aﬁm@m@ﬂﬂqg%l

| \\/

wuwuwl. [|lIBEtII]I'I|JEI|]BI’Z in

Unfold Every Question




22. What is
3

LM T
sin - +z(1—cosf)
6 6

.M ( n]
sin—-—-1|1-cos=—
6 6

where i = V-1, equal to?

fa) 1 (b) -1
fc) i (d) -i
23. Let

x+y Yy 2 3
A= , B= d C=
PR R

If AB = C, then what is A2 equal to?

6 -10
@ |, 26}

-10 5
4 24

(b}

(-5 -6
-4 -20

i ~7
20

24. The value of

1 1 1
1 1+x 1
1 1 1+y

{c}

-5

@ | .

is

(a)
(b
fc)
(d)

xX+y
X-y
XYy

l+x+y

B-PFCA-O-PEW/B3A
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25. If A={x:x is a multiple of 3} and
B={x:x is a multiple of 4! and
C={x:x is a multiple of 12}, then
which one of the following is a
null set?

{@) (A\B)uC

(b) (A\B)\C

fc} (AnB)nC

{d (AnB)\C

26. If (11101011), is converted to
decimal system, then the resulting
number is

(a) 235
b) 175
(c) 160

(d 126 -

27. What is the real part of

(sinx+icosx)3

where i=+/-17?
{a) —cos3x
{b) -sin3x
fe) sin3x
(d) cos3x I
____7\ 17
’ \/\ L
10 > \ /
-
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sinIj + i[l—cosE]
6 6

22. , W@ 1=,
. T . n
sin— —i| 1-cos—
s -i{1-cosg)
forerss we 87
fa) 1 b)) -1
fc) i (dy -i
23. W+ e &

X+y u 2 3
i ) o2
313l AB=C, 0 AZ foras st 7

(6 -10
o [0

4 26

-10 5
4 24

-6
-20
-7
20

1 1 1
1 1+x 1
1 1

24. AR T RT

l+y

{a)
(b)
(c)
{d)

x+y
x-y
Xy

l+x+y

B-PFCA-O-PEW/53A

25, 9k A={x:x, 3 F W PH 2} K
B={x:x, 4 % T& M9 &} a0
C={x:x, 12 & T& TN %), @
Trefafis © @ w0-w = o wg=m 27

@ (A\B)uC
(o) (A\BI\C
¢} (AnB)AC

(@) (AnB)\C

26. 32 (11101011}, =1 TweE wgia A
vfafda &t sl 2, <t sfomf g=m wn
87
{a) 235
(bj 175
{c) 160

d 126

@ i=4-1,

27. (sinx+ icosx}B,

EESICER I RS

ED

-cosdx

fa}
b} -sin3x
sin3x

fe)

cos3x

(dj

- Neze.
f_ ——— )
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28. If

E(©) - [ cosB sine]

~sin® cos®
then E(o) E(B) is equal to
(@) E(aB)

(b) E(o-B)

fe} E{a +B)

{d) -E{a+p)

relations from Bto A?
fa) 4096

(b) 4094

cj 128

(d 126

30. If

2p+3g=18

then what is (2p +cj) equal to?
{a) 6

(b} 7

) 10

(d) 20

B-PFCA-O-PEW/53A

29. Let A={x, y,z} and B={p,q, 1, s}
What is the number of distinct

and 4p? +4pg-3g2 -36=0

31. Let B be a positive angle. If the
number of d=grees in 0 is divided
by the number of radians in 8, then
an irrational number 180 /7 results.
If the number of degrees in 6 is
multiplied by the number of radians
in 8, then an irrational number
125n /9 results. The angle 8 must
be equal to

faj 30°
(b} 45°
() 50°
(d) 60°
32. In a triangle ABC, a={1++3) cm,

b=2 cm and angle C= 60° Then
the other two angles are

{a) 45° and 75°
(b) 30° and 90°
{c) 105° and 15°

({d) 100° and 20°

For the next two (2) items that follow :

Let o be the root of the equation

25c0s2 6 + 5cos0 - 12 = C, where T <0 <N

33. What is tana equal to?

@ -3/4
(b} 3/4
¢t ~4/3
(d) -4/5
12 ”;\\&//,.___:_/————-
=
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-sinB cosH

28, TR E@) =[C°.Se Sine], @ E(o) E(P)

oo we B7

(@) E(of)
o) E(o-B)
() E(o+P)

@ -E(o+B)

20, TR ®ifw & A=(x, y 2z}

30.

3ir
B={p,qrs} 80 B® A s fa
wra <t et o e

(a} 4096
(b} 4094
fc) 128

{d) 126

R1i 2p+3g=18 3r
4ap? +4pg-3¢% -36=0 %, al
(2p + q) TFEH =T 27
{a) 6
by 7

{c) 10

{d 20

B-PFCA-O-PEW/53A
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31. A= fifse 6 o wHeAE ww R AR 0 F
ol wem w6 F el = gen @
fawifsm e s 2, @ wiomreey @
iy T 180 /n M %1 Al 8 FH
et ) g F 6 % W i gew T
R TR S R, @ RomREEd @
agfim @&m 125n /G IR B O 6
forad s B @ =fee?

faj 30°
(b} 45°
{¢) 50°
(d} 60°

32. @ P§ ABC ® a=(1+43) cm,
b=2 cm 3 FW C= 60° T @ W
T v T BT

{a) 45° 3t 75°
(b) 30° 3R 90°
(c) 105° 3R 15°
(d} 100° 3R 20°

T 3 TS | (2) weHiHL & o

e efifST wfie 25c0s2 8 + 5cos8-12 =0
ﬂ{aa%,ﬁﬁg<a<n%l

33. tanc FFEs e B7

(@) -3/4
fb) 3/4
fe) -4/3
fd) -4/5

Nz
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34. What is sin2¢ equal to? 37. The angles of zlevation of the top of
a tower standing on a horizontal

faj 24 /25 plane from two points on a line
passing through the foot of the

tower at distances 49 m and 36 m

(b) -24/25 are 43° and 47° respectively. What
P
is the height of the tower?
fc) -5/12
{a) 40 m
(d) -21/25 {b) 42 m
fcd 45 m )
33. The angle of elevation of the top of a
tower from a point 20 m away from (d) 47 m
its base is 45°. What is the height of
the tower?
38. (1-sinA+cosA4)? is equal to
faj 10 m
fa) 2(l-cosA}{1+sinA)
fb) 20 m
b) 2(l-sinA)(l+cosA
© 30 m (b) 2 H )
(@) 40 m fc) 2{1-cosA)(1-sinA}

{d) None of the above .
36. The equation

tan"! {1+ x)+tan"}{1-x) = g 39. What is
cosH . sin g
is satisfied by l-tan6 | 1-cotd
fa) x=1 equal to?
fa) sin® -cosH
) x=-1
(b) sinB +cosH
fco x=0
fc) 2sin@
(d) x=1/2 @) 20088
____7\ P
’ \/\ r
B-PFCA-O-PEW/53A 14 o \ /
-7

wwuw.questionpaperz.in

Unfold Every Question




34, sin2o fre SR 37 37. & &fds gHad W G U GAR $ =6

% AR % T8 ¥ T a1el 1@ W 49 m
fa) 24 /25 3R 36 m i gt W o 2 forgeti @ =

I B FA 43° 3 47° F) AR
() -24 /25 1 F R

{faj 40 m
fc) -5/12

(b) 42 m
fdl -21/25

fc) 45 m

(d} 47 m

35. T% HER i S8 1 50 UK ¥ 20 m
T w g & 3997 10 45° §) FAR A

s w7
38. (1-sinA+cosA)? froms Juar 27
fa) 10 m
(@) 2{1-cosA){l+sinA)
) 20 m
) 30 m (b) 2(1-sinA){l+cosA)
(d) 40 m (C) Q(I—COSA)(].—SiﬂA)
(d) I A | FE T
36. wfiwwm tan"1(1+x)+tan_1(1—x)=g
mw@m%? 30 cos9 sin® e T 37
" 1-tan® 1-cotd '
fa) x=1
- {a) sin®-cosH
) x=-1
fb) sin® +cosH
fc) x=0
fc) 2sinb
d) x=1[f2 (d) 2cosB
B-PFCA-O-PEW/53A 15 Nz / [P.T. 0.
f' ——
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For the next three (3) items that follow :

Consider x=4 tan”l(l), y= tan—l(i]
S 70

and z = tan“l(—lw}
99

40. What is x equal to?

(e} tan'l(——o

(b} tan~!

845
) t n_1(8287]
8450
fc) tan_l[———BQBIJ
8450
(d) tan*(—ma?]
. 8471

B-PFCA-O-PEW/S3A

For the next three (3) items that follow :

Consider the triangle ABC with vertices
A(=-2 3), B(2 1) and C(1, 2).

43. What is the circumcentre of the
triangle ABC?

(@ (-2, -2)
(b (2, 2)

fe) (-2, 2)
fd) (2, -2)

44, What is the centroid of the
triangle ABC?

o (b
o (43
o (3

A

@ (53]

45. What is the foot of the altitude from
the vertex A of the triangle ABC?

{a) (1, 4)

by (-1, 3)
fe) (-2, 4)
fd (-1, 4)

ﬁ::,\
/

= . -
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T 3T " A (3) TR % forg
4 E’flﬁ’fﬁ{ x=4tan_1(é), y=tan_l(77~%)

3z = tan‘l(g%] Bl

42. x - y+z FREH TR R?

(a)

]

(b)

wl=

fc)

£AlA oA

(d)

B-FFCA-O-PEW/53A 17

I I arer /9 (3) FyAi & o

Wit A(-2 3), B(2 1) = C(1, 2) 9= Fg
ABC R o= fifs)

43. Tw ABC 1 wiEs 7 87
@) (-2, -2)
(®)
(c]
(d)

(2, 2)
(-2, 2)

(2! —2)

44. BT ABC 1 %3% &1 87

o ()

45, Bqs ABC ¥ = A ¥ 91 aw wiiens
1 UG T 87

(@) (1, 4)
() (-1, 3)

fc)

[d (-1, 4)

(=2, 4)

~s ; {P.T. O.
e
- )
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46. The point on the parabola y2 =4ax

nearest to the focus has its
abscissa

fa} x=0
b} x=a
fc) x=a/2

{d) x=2a

47. A line passes through (2 2} and is
perpendicular to the line 3x + y = 3.
Its y-intercept is

@ 3/4
(b) 4/3
fc) 1/3
(dj 3
x2 y2
48. The hyperbola —.--<_ =1 passes
a? p?

through the point (345, 1) and the

length of its latus rectum is % units.

The length of the conjugate axis is
fa} 2 units
(b) 3 units
fc) 4 units

{d) 5 units

B-PFCA-O-PEW/53A

49. The perpendicular distance between
the straight lines 6x+8y+15=0
and 3x+4y+9=01is

fa) 3/2 units
fb) 3/10 unit
{c} 3/4 unit
fd) 2/7 unit

50. The area of a triangle, whose vertices
are (3, 4), (5, 2) and the point of
intersection of the lines x = ¢ and

y=95, is 3 square units. What is
the value of a?

fa) 2
b} 3
{c) 4
fd) S

51. The length of perpendicular from the
origin to a line is 5 units and the
line makes an angle 120° with the

positive direction of x-axis. The
equation of the lbne is

fa) x+3y=5
(b) 3x+y=10
fc) V3x-y=10

fdi None of the above

_
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46. WETE y2 = 4ax W G iy F Frwzan 49, @ @l 6x+8y+15=0 3N

e ywan? 3x+4y+9=0 % FF & W= gl
T 87
@@ x=0
(@) 3/2 5T
b) x=a
(b) 3/10 THTE
fct x=aj2
c) 3/4 T
[d) x=2a
(d) 2/7 7%

47. @ @ (2 2) ¥ TRh O} sk Y@
3x+y=3 % dfers ¥ W 50. TF P =, fms sl (3, 4), (5, 2)

y- =TS HI 37 st W@t x = a 7 y = 5 1 SEA
frg &, fwa 3 ol T ¥ o T M
{a) 3/4 =1 ]?
() 4/3 @ 2
) 1/3 v 3
@:s (c) 4
{d} 5
48, aﬁqwx—z-—g—z=lﬁ'—§(3~/§, K|
a
e ¥ ol R Tfves fi s 51. TF @ W gwieg ¥ Afvaa i aws
Y d 31 T ol ag @l = 5 TS ¢ o W X~ A e e
3 T 120° % % AT §1 W@ F G
& w0 87
(@) 2% (@ x+3y=5
(b} 3 T () Vix+y=10
fc) 4 503 (¢) V3x-y=10
(d) 5 R (d) TE A | FE =
B-PFCA-O-PEW/53A 19
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52. The equation of the line joining the

origin to the point of intersection

of the lines f~z~g=1and £_+y=1
a b b a

is
@ x-y=0
() x+y=0
() x=0

d y=0

For the next two (2) items that follow :

The projections of a directed line segment
on the coordinate axes are 12, 4, 3
respectively.

53. What is the
segment?

length of the line

fa) 19 units
{b) 17 units
fc} 15 units

({d 13 units

54. What are the direction cosines of the
line segment?

fa) {12/13, 4/13, 3/13)
(b) (12/13, -4 /13, 3/13)
fc) (12713, -4 /13, -3/13)

(d) (-12/13, -4 /13, 3/13)

B-PFCA-O-PEW/53A
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For the next two (2) items that follow :

From the point P(3, -1, 11), a perpen-

dicular is drawn on the line L given by

xX_Y-2 z-3 Let O be
3 4

the foot of the perpendicular.

the equation

55. What are the direction ratios of the
line segment PQ?

@ (1,6, 4"

(b) (-1, 6, -4) :

e} {-1, -6, 43

(d) (2, -6, 4) ’
56. What is the length of the line

segment PQ?

(@) V47 units

fb} 7 units

{c) /53 units

(d) 8 units

For the next two (2) items that follow :

A triangular plane ABC with centroid
(1, 2, 3)cuts the coordinate axes at A, B, C
respectively.

57. What are the intercepts made by the
plane ABC on the axes?

(aj 3,6,9

) 1,2, 3

() 1,4,9

(d 2, 4,6
-

N
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52. Teg w T@en f+~g=1 ain AT 3Ty T A (2) vy & fera
a

2 Y 1 5 ide Rgdfenas g P(3, -L11) 8 O
b a x_ 42 23 qmaAa ™M@ L W

Ya % wifiwe w2 37 2 3 4
affirers offen wman ¥) AW it B sfea w=
(@ x-y=0 W= 0
b) x+y=0
55. 1@ @v8 PQ % &% g =1 47
fcj x=0
faj {1, 6, 4)
(@) y=0 (b) (-1, 6, -4)
(@ (-1 -6, 4)
T A FqT E (2) gy % T (d {2, -6, 4)

R o9l w Re W@ @ F wEy wE 56. Y@ @z PO s T 37

12, 4, 3%l
fa) AT %
53. Y@ @e $ T T 87 (b) 7 T
- fc) 539
faj 19 )
{d) 8 F
(b) 17 1
{c) 15§ T HAH " 2 (2) WA W o
[d) 13 18 ¥ (L 2, 3) 9 U Peemim wWae ABC

Pl a8l B A A, B, C W Fed g

54. e ave A el 70 37 57, THEE ABC T I W T FAGR T

(@) {12/13, 4/13, 3/13) &
(@ 3,69
(b) (12713, -4 /13, 3/13)
@ 1,2, 3
() {12/13, -4 /13, -3/13) © 1.4 0
(d) (-12/13, -4 /13, 3/13) @d 2 4,6
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plane ABC?

fa) x+2y+3z=1
(b) 3x+2y+z=3
fe) 2x+3y+62=18

(dj 6x+3y+2z=18

For the next two (2) items that follow :
A point P(1, 2, 3)is one vertex of a cuboid
formed by the coordinate planes and the

planes passing through P and parallel to
the coordinate planes.

59, What is the length of one of the
diagonals of the cuboid?
(@) 10 units
{b) 414 units
{c] 4 units
{d) 5 units
60. What is the equation of the plane
passing through P(1, 2, 3) and
parallel to xy-plane?
fa) x+y=3
fb) x-y=-1
{c} z=3

(d) x+2y+3z=14

B-PFCA-O-PEW/53A

58. What is the equation of the

61. If G(x)=v25-x2, then what is
G{x)-G(1
tim S) f(l

equal to?
x—1 X -

1

(a) ‘m

) <
fc} -

fd) —

62. Consider the following statements :

e’ +e X | . .
1. y=—2— is an increasing
function on [0, =).
e* —e™* . . .
2. y=—2— IS an increasing

function on (- e, ).

Which of the above statements
is/are correct?

fa) 1 only

) 2 only

e} Both 1 and 2
d} Neither 1 nor 2

63. For each non-zero real number x,
let fix)= ]_]il The range of f is
x

{a) a null set

{b} a set comsisting of only one
element

fc} a set consisting of two
elements

(dj a set consisting of infinitely
many elements

__::7\ 1
‘ ASEAS
22 N \\// )
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58. WHAW ABC ¥ WHiE0 F1 87
fa) x+2y+3z=1
() 3x+2y+z2=3
fcj 2x+3y+6z=18

{d} 6x+3y+2z=18

AT AT FTA DY (2) W & Terw

=3 frg P(y, 2 3) Tl o W o wiifaeg R
Tz v, PidviE duadl i 3% GARR A
A, PR TE E, TR

§9. ¥ ¥ fraoit & @ wH N T 7
(@) 10 318
(b) V14 @R
fc) 47
(d) 5

60. P(L 2 3) ¥ VA dR IR xy-TaA &
A aHad &1 YHERo = 87

fag x+y=3
b) x-y=-1
fc) z=3

fdl x+2y+3z=14

B-PFCA-O-PEW/53A 23

(b)
fc) -

@) —=

62. Feafafiga syl w id=m Hifsy .
oF FHAH

e* +e "

Lo [0, ) Ry="—"

e &1

eX —e X

2. (_m’ °°] W ¥= 9

AN T B
I HUA § W HA-T1/4 T 3/R0
(@) Fad 1
(b} FF4 2
¢y 13 2dd
(@ F@IIRAF2

63. JA% AW Ardfes g@m x % fere W
Eﬁﬁqf(xhl—’;—l%lfmmw%?

(o) T Tk =
(b) T wg=, Rl Faa & e §
(c) U ag=A, faad @ aEa ¥

(d) TF o=, o s #E sEd
H

NPT O,

= . .
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64. Consider the following statements :

1. f{x)=[x), where [.] is the
greatest integer function, is
discontinuious at x = n, where
ne Z.

f(x) =cotx is discontinuous at
X =nn, where ne Z.

Which of the above statements
is/are correct?

(a)
{b} 2 only
fc; Both 1 and 2

1 only

fd) Neither 1 nor 2

65. What is the derivative of
/ 2 _
tan-1 (\. 1+x 1

X
with respect to tan~! x?

fa) O
(b) 1/2
{c} 1
(d x
w y3
66. If f{x}=10ge(iti), g{x)=::'iTx2

and ge f{t)= g(fi{t)), then what is
gof(:—_l—_i] equal to?
fa) 2

fb)
fc) O
(d}

1

1/2

B-PFCA~O-PEW/53A

24

For the next two (2} tems that follow :

Given a function

-1 if x<0
fix)=<ax+b if Decxcl
1 if x=1

where a, b are constants. The function is
continuous everywhere.

67. What is the value of a?
{a)
(b} O

(c)
[d) 2

-1 .

1 ‘ .

68. What is the value of b?
(a)
fb) 1

-1

fc) O

{d} 2

69. Consider the following functions :
1. f=x% xeR .
2. fixl=sinx, O<x<2n
3. fixy=e*, xeR

Which of the above functions have
inverse defined on their ranges?

fa) 1 and 2 only
fb) 2 and 3 only
{c/ 1 and 3 only
{dj 1,2 and 3
- N1
E \ /\. 3
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64, Ffafad wudt ® faer Hifm

1. flg=[x} & [] wewn i
FeM B, x=n W A ¥ FEH
nez.

2. f(x)=cotx, x=nn 9 AH{Ad z,
&l ne Z Bl

9% FY H W R/ EE R/
(a) FEH 1

(b) HARA 2

fcj 13 2IA

(@ F@1amad2

J1o a2 1)
65. tan~! x % @4 tan™! [ﬁﬁ—ljm

x
SfeThersl 1 37

{aj O

b) 1/2

fcj 1

d) x

3

66. % f(x) =loge( 1 ) gl) = 2
X

W gofm=glrey ¥ 0@
gof(e—_l—] e TR 37
e+1

fa) 2
(b} 1
fc} O

(d) 1/2

B-PFCA-O-PEW/53A
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AT AW AT B (2) T * o

fom 2w wew

-1 fg xs0
fog=lax+b @& O<x<l
1 afy xz1

2l @, b & Fod ga2 T B

67. a & HA T &7

(@ -1
() O
(c) 1
(d 2

68. b uH w1 87

fa) -1
(b) 1
fc) O
(d) 2

69, Fffias e ® foem Fiem

1. flg=x3 xeR
2. flx)=sinx, O<x<2n
3. fig=e€", x=R

e R EE R
aferife e a7

(a) I 1 3R 2
(b) Faw 2 3R 3
c) a1 3R 3
() 1,2 3R 3

[P.T.O.




For the next two (2) items that follow : 73. What is the minimum value of fix}?
The integral J' dx - is of the form (@) 0
acosx + bsinx
1 [ (x+cx)] (b} 1/2
—~In| tan .
r 2
¢ -1
70. What is 7 equal to? (d) 2
(@) a? + b2
(b) ’fa2 _+_b 3 For the next two (2) items that follow :
fc] a+b Consider the function
2 _.2
(d) vya“ -b acozsx £ x;tg
_ Sl =y TTex .
71. What is o equal to? 3 if x=1
2

{aj tan"l(%)

L . n .
which is continuous at x = 2 where o is

(b) tan“l(é) a constant.
a
-ifa+hb
fc) tan (ak b] 74. What is the value of ¢ ?
(d} tan*l(““b) (@) 6
a+b
fb) 3 '
For the next two (2} items that follow : (e) 2
<21 (d) 1
Consider the function fix)= .
x%+1
where x ¢ R. 75, What is lim f(x) equal to?
x—0
72. At what value of x does f(x) attain fa) O
minimum value? ) 3
{a) -1
4 3
() 0 fe)
fc) 1
6
{d) 2 @ 2
____7\ 1
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3Tt 3T |TeY 2 (2) Tt & fere

| dc lln[tan(xm)]
acosx t+bsinx 2

F &7 F B

70. r TS TR ¥7
fa) a? + b2
) a?+b?
fcj a+b

@) Va2 -b?

71. o frEs sU= 27

(a} tan'l(%)

{b) tan 1( ]
(222
(_b

(c)

-1

{d)

tan”

AT AT =TS 2 (2) Wi ¥ fg

T f(x) = 1fvl%’fxe]R R feram $ifdm)

x

72. x % 59 AR & fAQ f(x) w9 9™
HTar 27
fa) -1
(b} O
c) 1
(d) 2

B-PFCA-O-PEW/S3A

73. flx) 1 FIa9 AH Fq 27

(@) O
(b) 1/2
fc) -1
(d) 2
AT A T FY (2) W % B
ocosx R x T
A Flg={m=2x 2
3 ‘!Tﬁ{ xZE

mﬁmﬁﬁn,a’rngmm%ﬂﬁat@

I T

74. o T AH T R7
{aj 6
(b) 3

fe} 2
{d 1
75. lim f(x e TR R7

(a) O

() 3

fc)

Afw

(d)

Al

27

\& . [p.T.0.
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For the next two (2) items that follow :

Consider the line x =3y and the circle

x2+y2 =4,

76. What is the area of the region in
the first quadrant enclosed by the
x-axis, the line x=+3 and the
circle?

(a)

wilA
ST

(b}

Na
G

fc)

wia
N | =

None of the above

(d)

77. What is the area of the region in
the first quadrant enclosed by the
x-axis, the line x=+3y and the

circle?
T
(@) 5
T
/2]
(b} =
n V3
{c "3‘ —2—
fd) None of the above

B-PFCA-O-PEW/53A
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For the next two (2) items that follow ;

Consider the

Y=COSXx.

curves y=sinx and

78. What is the area of the region
bounded by the above two curves
and the lines x = 0 and x = 43?

faj 2 -1
(b} ¥2+1
fc) 2
(d) 2

79. What is the area of the region
bounded by the above two curves
and the lines x=§ and x = g?

fa) J2-1
(b) V2 +1
fc) 242

(d) 2

For the next two (2) items that follow :

Consider the function

flx)=0-75x% - x3 —9x2 4+ 7

8B0. What is the maximum value of the
function?

{aj 1
(b} 3
fc) 7

{d) 9




AT AT "1 Y (2) T & T AT W TR A (2) T % Ty

W x=+3y M 90 x%+y? =4 W fmw Tl y = sin x AW y = cos x T =R Hifm)
ENE

T
76. T =guty § x-914, W1 x = V3 T '78.314{{?!%??(7:@h‘iasnli‘@aq‘i;~c=0:ﬂ’ruc=Z

& R e = deree 1 /Y S Wi R T A T A7
) n V3 fa) J2-1
3 2 (b} N2 +1
fc) 2
() g—g (@ 2

79. Bqﬁ‘m'ﬁaaﬁam%@aﬁx=4fafr{x=g

n 1
€ 372 T UREE, YN W e w82
faj 2-1
fc) 2J2
77. weam agats § -3, W@ x = /3y @7 a2
7§ R w1 g @ A7
T 37T AT Y (2) AT 3 e
(@ I
3 Fed f(x)=0-75x* - x® -9x2 +7 W foRR
Hifae |
) -
80. FeiA 1 AUFAH A =1 27
73 fa) 1
n 3
@ 377 ®) 3
fc) 7
(d) W A Y B T (d) 9
B-PFCA-O-PEW/53A 29 NS [R.T.O.
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81. Consider the following statements : 83. What is dy

~Z equal to? !
dx q
1. The function attains local
minima at x = -2 and x = 3. {a) Y
X
2. The function increases in the y
interval (-2, 0). {bj} -
Which of the above statements (c) X
is/are correct? € g
fa} 1 only d - x
y .

fbj 2 only

. d2y
. What is —= 1 to?
fc Both 1 and 2 84 at is 2 equal to

. a” a?

(d} Neither 1 nor 2 fat — ) —
2 2
Yy x

2 2

a a

e} ~— (d) -—

x2 y3

For the next three (3) items that follow :

. . i 85. Consider the following statements :
Consider the parametric equation

1. The general solution of

a(l-t2) 2at du
X=—— y=—"T_ — = fx)+x
1412 1412 a7
is of the form y = g(x) + ¢, where .

. ¢ is an arbitrary constant.
82. What does the equation represent? o

dy 2 .
2. The degree of[—] = fix)is 2.
fa) 1t represents a circle of dx

diameter a Which of the above statements

is/are correct?
fb) It represents a circle of
radius a (a) 1 only

{b) 2 only
fc) It represents a parabola
f¢/ Both 1 and 2

{d) None of the above (d) Neither 1 nor 2
____7\ 1
‘ \l "/
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81. Ffafas wut w fiam ik

1. %o, x=-2 3R x =3 W Wiy

=18 (minima) T F@ B

2. oA, A (-2, 0) F FUE )

e ot A @ B/ e A

(a) HFF 1
(b) FaA 2
fc) 13123

[d A7 1R 2

AT v =@ A7 (3) Wit % 7

a(l~t?)

yafd® T x = 7
1+t

W femm Fifsm)

82. g gt 1 foelta w27

y:

(@) & o =8 F TH g9 FERE Fa g

(b) T’ a P w1 w99 Tiwlg w=@@

?
(c) 8 wE Tad Frefa e

(d) Iudw | | 1§ T

B-PFCA-O-PEW/53A

83. %%ﬂﬁimé?

2
84. E-é—"ﬁ»’aiﬁaw%?

dx
a2 02
“ b 2
@ % ®
a2 a?
- d) ——
@ -3 @ -5

85, Frfufigs wuat w famm Fifdw .
1. %:f(x)+x ] e B

y=g(xj+c%'€qm%,ﬂﬁ c Th
W5 AT R

2. ay)*_ x) 1 9@ 2 R
() =i

ITTh FeAl & W -/ wh §/80
(@) ¥ 1

(b) FaE 2

(¢} 13T 2 <A

(d) Ad@13Rad2

31 ﬁﬁ//\;—i—i‘o
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86. What is j—;diﬁ_; equal to?

V;XQ !

x+vVx? 4+ g

a

+C

fa) In

x-Vx®+a®

fb) In — +c

x? +Vx? 4+ g2

fc) 1n +c

{d}] None of the above

of

where ¢ is the constant

integration,

For the next four (4) items that follow :

Censider the integral I, = dx,

J-n sin 2mx
sinx
where m is a positive integer.

87. What is [} equal to?
@) O
{b) 172

fc) 1

(@ 2

B-PFCA-O-PEW/53A
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88. What is /; + /5 equal to?
faj 4
{b) 2
fc) 1

(d] O

89. What is I,, equal to?
{aj O
(b) 1
fcj m

{d) 2m

90. Consider the following :
1. I, -1, is egual to 0.
2. Ip,>1,

Which of the above is/are correct?
fa) 1 only
(b} 2 only

{c) Both 1 and 2

{d) Neither 1 nor 2

_
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dx
foredr UL 37
se- I x2 +a?

[ 2 2
+ +

(a) ].n_x____u +C
a

]2 2
(b) ]_nic_-\.i_.tg..__-}-c
a

fc) In +c

x2 +Vx? +a®
a

(d) 9% 8§ Q HE T

S8t ¢ T F A R

AT A AT wW (4) T & fow

7 sin2mx
wAE L, = [
0 sinx

it 3, W fomm Fifsm)

dx, 98 m UF YATHE

87. I, fws s 37
(@ O
b) 1/2
) 1

{a 2

W

B-PFCA-O-PEW/53A 3

88, I, + [, frud auer 27
(@) 4
(b) 2
c) 1

(d 0

89. I, Tros sus 27
(@ ©
(b) 1
) m

{d) 2m

90. Ffafaa m omm #iiwg -
1. I

m

-1 0% TIOR3

m-1?

2. Iy > In

IF A § FH-91/7 wd /R0
(@) o 1

(b) HFAA 2

(c) 1 3T 2

[dy am1MmMAd2

— = \ V/i P.T.O.
>’_\_&'/!_—_:-/"—__‘ )
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For the next two (2) items that follow :

2 4
Given that i[lﬂ%) = Ax + B.

l+x+x
91. What is the value of A?
fa) -1
b} 1
(c) 2
{d} 4

92. What is the value of B?
(aj
(b} 1
fc) 2
d) 4

-1

For the next two (2] items that follow :

2
Given that lm (2 *x

X oo

_Ax_BJ=3_

93. What is the value of A?
fa} -1
(b) 1
{c) 2
(d} 3

94, What is the value of B?

(@) -1
(b) 3
fcg -4
{d -3

B-PFCA-O-PEW/53A
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95. What 1is the solution of the

differential equation

ydx —2 xdy =02
y

fa) xy=c

(b) y=cx

fc) x+y=c

{d) x-y=c

where ¢ is an arbitrary constant. -
96. What is the solution of the

differential equation *

sin(@J—a =07
dx

1

fa) y=xsin ‘atec

Latve

{b)

X =Yysin~

1

fcj y=x+xsin"‘a+c

1CI-I-C‘,'

(d)

y=sin"

where c is an arbitrary constant,

97. What is the solution of
differential equation

the +

2
—+ -y =07
dy y

xy=x%+c

()

(b) xy=y* +c

(e} 4xy=y*+e

(d) 3xy=y° +c

where c¢ is an arbitrary constant.
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AT AW a2 (2) TRt & e

frar v 2 f A [ 1 x4 x?
dx

=Ax+B
1+x+ x? ]

91, A I HAM H1 87
fa) -1
(b} 1
fc) 2
d 4

92. B 9F ¥ ¥?
fa) -1
(b) 1
fc) 2
d) 4

AW T AT BN (2) TN ¥ T

x—w| 14+ x

fom T 2 B6 lim [2”‘2 —Ax—B]-—-B

93. A % HE ¥ 87
@ -1
b} 1
fc) 2
[d 3

94. B qH ¥ 87

{fa) -1
(b) 3

fc) -4
d -3

B-PFCA-O-PEW/53A 3

gs.wmgg—%—"d@’:ozﬁrﬁﬁ
y

Col

@) xy=c

) y=cx

fcb x+y=c

fdl x-y=c

TR ¢ TH W= AW T

96. 3gFHy iR sin[%)—a:t) F 7
o] &7

1

fa) y=xsin""a+c

b} x= ysin'1a+c

1

{fc) y=x+xsin"a+e

1

f{d) y=sin"'a+c

W&l ¢ UF w8 AW B

97. aaawwﬂw;ﬂ+f—y2=o F
y Yy

w7 37

{a} xy=x4+c
(b) xy=y* +c
() 4xy=y*+c
{d) 3xy=y3+c

Glﬁc@ﬁﬁaﬁ{%!
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X
98. What is jﬂ

( 1)2 equal to?
x+

(@ (x+1)%e*+c

(b) {x+1l)e*+c

{c) e +c
x+1

d _e

@ (x+1)2 e

where ¢ is the constant of
integration.

99. The adjacent sides AB and AC of
a triangle ABC are represented
by the vectors -2{+3j+2K and

-4{ + 5]+ 2K respectively. The area
of the triangle ABRC is

fa) © square units
fb) 5 square units
{e} 4 sguare units

{d) 3 sguare units

B-PFCA-O-PEW/B3A
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100. A force F = 3f+4}'—3§: is applied at

the point P, whose position vector
is 7=20-2j-3k. What is the
magnitude of the moment of the
force about the origin?

{a} 23 units

fb} 19 units

{e] 18 units

{d) 21 units

-
. Given that the vectors o and B are

non-collinear. The values of x and y
for which ¥-¢ =@ holds true if

- —
U=2x0t+yP, U= 2yd + 3xB  and

—

w=2&’—5§, are
fa) x=2, y=1
fb) x=1, y=2
fo} x=-2,y=1

d x=-2, y=-1

- i -+ =
102. If|d|=7 |b|=11and |d+b| = 1043,

- T,
then |a - b|is equal to

fa) 40
(b) 10
(c) 4410
(d) 2J10
B\
D
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98. [ X% firep s 87
(x+1)2

(@ (x+1)%e* +c

) (x+1)e* +e

{c)

{d

99, wF f[ ABC # "o ¢ AB it AC
FAT: glesl  -20+3j+2k ol
—41 +57+2k 3R TiefE H A 2
iy ABC %1 &9%a w01 ®7

fa) 691 THE
@) 5
(c) 41 5HE

(d) 3 wohrd

B-PFCA-O-PEW/B3A 37

100. TF ¥@ F=3+4)-3k fag P w,

e fufa wfem 7 =2 -2j-3k %,
T @ R el ¥ WRY T F
A =1 AR F 27

(@) 23 T
(b} 19 T
fc) 18 3%
(d) 21 558

101. fan m § f6 wRm & o B onfw

xﬁ?y%ém,ﬁﬁ%‘{ﬁ—?}:ﬁ
T Ra %, AR u=2m+y

fc)] x=-2 y=1

fd x=-2 y=-1

102. 7f iay=7 b|=11 #r

|d+b| 1043, @ | - b| Fred =
27

{@) 40
b) 10
¢} 4410
(d) 2410

__:7\ 17
‘ \/\f,
< [P.T.O.
’7,\_\\ [
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103. Let o, B, ¥ be distinct real
numbers. The points with position
vectors ol +fj + vk, Bl +yj +ak and
vi + 05 + Pk
fa) are collinear
(b) form an equilateral triangle
fc) form a scalene triangle
{d) form a right-angled triangle

- 5 2 .
104. If a+b +c¢c =0, then which of the
following is/are correct?

-3 —+
2. dxb=bxc=¢xd

Select the correct answer using the
code given below,

{a) 1 only
(b} 2 only
fc/ Both 1 and 2
{d) Neither 1 nor 2
105, If |&’+3|=|3-BL then which one of
the following is correct?
fa} @=2b for some scalar A
fb) & is paraliel to b
(¢) @ is perpendicular to b

({d) a=b6=0

B-PFCA-O-PEW/53A

106. The mean and the vanance of
10 observations are given to be
4 and 2 respectively. If every
observation is multiplied by 2, the
mean and the variance of the new
series will be respectively

{a) 8 and 20
(b} 8 and 4
() 8 and 8

{d} 80 and 40

107. Which one of the following measures !
of central tendency is used in
construction of index numbers?

fa)j Harmonic mean
fb) Geometric mean
{c) Median

fd) Mode

108. The correlation coefficient between
two variables X and Y is found to
be 0-6. All the observations on .
X and Y are transformed using
the transformations UJ =2 - 3X and i
V=4Y + 1. The cotrelation coefficient
between the transformed variables
U and V will be

@ -0-5
(b) +0-5
¢ -0-6
{d +0-6
5’\/\4
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103. 1A it B o, B, v PV anafes a@md

21 ol Bl of +Bj + vk, BT +y7 + 0k
IR yi +0f + Bk T forg

(@) @ 3%
(b) TF THaTg Frge R g

o) o Toremang Fiyw wma &
(d) T G B3ye S §

104. 7R G+b+c=0, @ Foafafaa d
Fr-a/R T /&7

. @ b, ¢ uvaea ¥
- -
2. axb=3xc=3x3

R R o w1 oTET W Ad IW
T

{a) ¥ 1

(b) Had 2

{c} 1 3R 2N
[d) S@1sRad2

105. IR G+b|=|d b} @ Frfafe & }
S| T 37

(a) 3 =Arb, TS kw4 % R
) @, b ¥ waFR R
(¢) 2, bW athrers

- =

fd d=b=0

B-PFCA-O-PEW/53A

106. 10 J&wil % aqreq 2N e FA: 4 3R 2
for ¥ of v Iwm W 2 QN W
e S, @ T S % g SR wERw
FA: T ST

{a) 8 3R 20
(b) 8 3 4
fc) 83r8

(d) 80 ¥ 40

107. g% i w0 9 % oy Feaffea 3
q BE-E FE wgY o w@m 6
STl ¥?

(a) TS O

(b) TR H1eA
(c) TR

(d] gTH

108. 3 = X 3 Y F i Tgewry TUE 0-6
e A 21 X 3R Y % oft dan =
TARRUT U =2-3X 3R V=4y + 1 ®
T T EORA TR W ¥ 1 ST
T U dr v F f9 gearr e =0

gm?
fa) -0-5
(b} +0-5
) -0-6
(d) +0-6
39 ‘\?\/\LPTO
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109, Which of the following statements
is/fare correct in respect of
regression coefficients? -

1. It measures the degree of
linear relationship between two
variables.

2. It gives the value by which one
variable changes for a unit
change in the other variable.

Select the correct answer using the
code given below,

fa} 1 only
fb) 2 only
fc} Both 1 and 2

{d}) Neither 1 nor 2

110. A set of annual numerical data,
comparable over the years, is given
for the last 12 years.

Consider the following staternents :

1. The data is best represented
by a ©broken line graph,
each corner (turning point)
representing the data of one
year.

2. Such a graph depicts the
chronological change and
also enables one to make
a short-term forecast.

Which of the above statements
is/are correct?

fa} 1 only
(b} 2 only
fe) Both 1 and 2

{d} Neither 1 nor 2

B-PFCA-O-PEW/53A

111. Two men hit at a target with
probabilities 1/2 and 1/3
respectively. What is the probability
that exactly one of them hits the
target?

() 1/2
b) 1/3
fc) 1/6

(d) 2/3

112. Two similar boxes 3. (i = 1, 2) contain
(i+1) red and (5 -7 - 1) black balls. '
One box is chosen at random and
two balls are drawn randomly.
What is the probability that both
the balls are of different colours?

(@) 1/2
(b} 3710
fc] 2/5

fd} 3/5

113. In an examination. the probability .
of a candidate solving a question
1s 1/2. Out of given 5 questions
in the examinaticn, what is the
probability that the candidate was
able to solve at least 2 guestions?

{fa) 1/64
b} 3/16
() 1/2
(d 13/16
BN/
N
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109. HOGHEY oM % frw Frafafaa a0t 8
¥ PH-/3 wd B /87

1. & @ w0 % &= s vy A
HIAT S AT R

2. ¥R 98 UH o ¢ fen 6w = 9,

T A @ T wfEds €N 4,
ufterdq e R

TR e MU g W oW W OES IW
g

fa) Fad 1

(b) F99 2

(c) 1 3w 2
(@ T 13T d2

110. i 12 =€f & fau affs we=
artrsl 1 gy, < 7 ot § geiy R,
o m &)

Frafafaa weEl w faar fif

1. 3 sfe2 ww @ivga Y@ I% 3w
wEen HEfE f %, vEs
(ad fag) wr ad % T2 frefia
a2

2. TH YR I A% HIATEHEF &0
foam & i sty gEim w0
w1 ot g =T B

39 ol ¥ | RR-w/R a9l R/
{a) FT 1

(b) % 2

fc) 132

(@ Adq 1A 2

B-PFCA-O-PEW/53A

111. < =fe fedft aga | w9 172 39 1/3
F midFmeT ¥ Y3 €1 3w wiiEm F
2 % 3 B S5-3I 35 = 30 T W
e 27

faj 1/2
) 1/3
fej 1/6

(d) 2/3

112. 2 @9 s B (=1, 2 F (i+1)
A AR (5—i- 1) B T 21 T fa=

REARI ) B G B (e e
Frepreft wmeht ¥ = Wl @ % fo5 2
T v -TE O {7

@ 1/2
(b) 3/10
c) 2/5

fdj 3/5

113. T Weh & T i F & 9H H T
H4 A TR 1/2 R1 TR WS 4
? o wlign & fou mw 5wt A | ]
F-Y-F0 2 GE H B FA A waW

@Y
(@) 1/64
(b) 3/16
et 1/2
(d} 13/16
41 o \\\\/ L’F 0.
—\—
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114. If Ac B, then which one of the

following is not correct?

faj P(AnB)=0

_P(A)
(b) P(A|B)= P(B)
_P(B)
e P(B|A = P(A)

FPlA
(d) P(Al(AuBn=%B;

115. The mean and the variance in a
binomial distribution are found
to be 2 and 1 respectively. The

probability P(X = 0) is
(@ 1/2
) 1/4
c) 1/8

(dl 1/16

116. The mean of five numbers is 30. If
one number is excluded, their mean
becomes 28. The excluded number

is

(a) 28
(b) 30
{¢) 35

(d) 38

B-PFCA-O-PEW/53A
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117. If A and B are two events such

that P(AUB)= -2, P(AB) =Zl

2

d P{A) =
ar {}3

, then what is P(B)
equal to?
faj 1/3
(b} 2/3
fc) 1/8
(d) 2/9

118. The fYess than’ ogive curve and the
‘more than’ ogive curve intersect at
fa) rtmedian s
(b) mode
{c} arithmetic mean

{d} None of the above

119. In throwing of two dice, the number
of exhaustive events that ‘5’ will
never appear on any one of the
dice is
faj 5 3
fbj 18
{fc) 25

{d} 36

120. Two cards are drawn successively
without replacement from a well-
shuffled pack of 52 cards. The
probability of drawing two aces is

(@) 1/26

(b) 17221

(c) 4/223

df 1/13
o \/\f,
I\
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114. Il Ac B ®, @ Fm=ffga & & F=-w
o A T Y

faj P(AnB}=0

)]
B PAIB)= oo
_PB)
@ PBIA- ;o
_P4)
@ PLAIAVE) =5

115. Tl f&9e 929 & Arem T Yoo SR 2
afit 1w s 81 wifesa P(X = 0) T
27
fa) 1/2
(b} 1/4
c) 1/8

(d) 1/16

116. Ui9 TEmes %1 "ieg 30 g1 9R U @em
= Big B S/ &, @ IH A 28 |
Il ¥t B =R G F=n R7

fa) 28
fb) 30
fe} 35

(d) 38

B-PFCA-O-PEW /53A 43

117. ¥ A M B < WeAN W ¥R ¢ T

P(AuB):% P(AﬁB]:% s
P(Z):%,'rﬁp(gyﬁm%w%?

fa} 1/3

() 2/3

{ct 1/8

(d) 2/9

118. ‘@ 3 o0 §% R WR W oA @F
gl ufeeae W &7

(@) WITERR T

(b} FgTH W
(c) CHRRR AT T

(d) 39 | A g T

119. € Gl & % § 39 Fdy genet A,
& 3t 9 fodt ot YA W 5wt T
SO, e w27
fa) 5
{b) 18
fc} 25
(d 36

120. =3 W@ F< gL W F 52 W H T
TR ¥ R iR § @ IR
PR T & PeE T e % g
B T iR Fn R7

(@) 1/26
(b) 1/221
{c) 4/223
[dj 1/13

Ny \\/V’[P. T.0.
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W q% AR Tg T Yirent Gie @t T HE WY a" q% A e

A&t . : B-PFCA-O-PEW TireTuT giveeRt 3rRA
W UEN
0426177 e g A
Tora
W ;g uve 3R e fime yuifs : 300

10

FAIIW

. Tlign OV PR & e Are, 39 39 wdew gie @ vzare savg W o T gt e R ow, w=
AT G R Y¥ gl WA A A W) AR T R, @ o0 v qhww gieen @ wme i
. FE TR @ % OMR IW-was #, IR W W, e Tver o whieror gt s A, B, C @
D 1, & A @ o et g o Rl § v@ sik e a ) Rl swfmam & 4 e
ot yEr ) g /et f Bl § swoeas e = Rgr sem
. 3 e I wowe # R e wew d smwR s
g e 31 wheo gfem o o 1 R
- T8 09w g # 120 v (ww) Re e ) wes s i o ansl 9§ ww R i s |
TR TR (IW) e M E | N oy B o, R e Ie-uas W site s e ¥ty s
T o R T A sy W, A o wem R osifed w1 S o) getew o SRE W F T
FAA TH TR T L
o 3 B W e A Ry T Iw-mE WO st w0 8 Iw-ws § fw ove Bl e
. WYt T % ofF WM ¥
. T8 TEd T ame wlam gfee & fafim v F U IRG-Te Wil e S R, o W
AT & Y AT SRt % igEn g faemn sw-we 4 2§
. A I T A H IW-TEE § O ¥ aE aw Wan ¥ gad T e IW-uEs i f a3
3B AT W TEW R ® TN B ey 3
. = F F T v vl g F o o wem §
. e I & g 3w
TegtiE wvA-uEt # Infreen o R mu rem ot % fae gur R s ‘
(i) w0k T o T am A s # ) woitan gw woiE s % frg R e s e I % fag we g
g fpy Mo o w1 e -faerd v ¥ w0 § Fer smom)
(1) 3R g sfiear o & Afts I 3 R, @ @ TR I I Swn, T R e § ¥ oF ww ad
B 2, f oft 38 T % fae swdegen @ s we W avs e o)
{iii) I Iefieam g i T v A foean wen R, sriq anfieEr g0 I A R s &, 9 3w e ¥ R
w§ que Tt e s

W W AR T§ T GREeT Tien F A wE W gE a1 el

hAYE4

Note : English version of the instructions is printed on the fron\tzcox f/ﬂié Booklet.
—— [ e
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